(Rl FRA) HKEERELE SH6E5 A 23R BE

TENSs | wans LT maxe" AP B S B R
@Y L AR wmEh B E ) FRiE=28, /\ IR HIIFiiE=4.9, AN FRiE=(5, 7.6), FIEFRIEFR[(RE],
WIIFRE=16.3, &)IFtEE=7.6, RaI PR 1 = (5, 49.2), ALl IAW N:: ]
KENIFRiE=7.8, /INIIFig=128, BABk)I = (5, 5.5)
AFRiEi=16, BAMK)IIFRI=55
FEH R 71564, =ha)l 7552, LEIFRE=(5, 24.1), R LR RBS-RE]
INENFRiEi=10.4, T )1 FRigi=4.6, HARIFRE=(6, 5.1),
B FRiE=7.2, ILFHENIFRE=7.7, {=hB)IRIE=(6, 4.2),
E/NENFRE=5.7, KRBRNIFE=1.9, INEIFRIZ=(5, 10.4),
R FRE=5.8 mIIGRE=(5, 45),
R ECPR 1 R i= (6, 42.4),
BEIRE=(5, 7.2),
WA 5= (6, 6.2),
L/NENFRIE=(6, 4.6),
RABIIFE=(6, 6.3),
I Rigi=(6, 4.6)
SIET EARNIGRIE=4.6, B4 RIIFRE=75 EARIFRE=(5, 3.6) FIERRIIEFRRE]
= R BT ENFRE=71, E&)IFRE=3, ERE=(5, 7.1), R ERRE]
{E AR FiiE=5.6 EABNIRE=(7, 45)
JIHRET LR GRE=14.4, &)1 5R1E=6.2, ILEENFRIE=(5, 14.4) -
=F)RE=5.2
FaEY AR FIT HEIIFRE=146, BE)IFRE=9.6, HHIIFRE=(6, 11.7), WEENIEFRIBZN-FAE]
EH)IFRiE=12, B)IFRE=4.9, SEH)ITRE=(5, 12),
AH)IFE=16.2, 20)IIFHEH=9.3, ERE=(5, 4.9),
BRJIRig=4.8 A H)IFRE=(6, 13),

FTECRR )| R3gi=(6, 44.1),
BMJIIRE=(5, 48)

AE SBIIIGREI=11.6, FGHE)IIFRE=26.5, SBIRE=(5, 8.9), WEEINERIBENN
WH) | FRi5=6.8, iTTE)IIFRtE=11.2 FmE )| 5= (5, 20.2),
T ECBR )11 55R35i= (5, 43.4)
.~ BRE=22.4, BFF)IFRE=77, BIGE=(5, 22.4), FIECFR I EFR[RE - Z A
HAFRE=125 OX)IFEE=16, SMFNIFRE=(5, 7.7),
REARIIFRE=84, /INE)IFE=7.2, OXJIFRE=(5, 12.8),
= RiE=5.2 REAXA)IRE=(5, 6.7),

ANE)IGRIE=(5, 7.2),
R ECBR )15 5= (5, 45.4),
EEIRE=(5, 4.2)

BAH RERIFRE=19.9, B)II5RE=137, RERIFRE=(5, 19.9), -
WE)IIFRE=11.4, #1U)1I5RE=10.2, )= (5, 11.4),
&) IFRig=15.6, E)IlRig=8.8, M IFRE=(5, 8.8)
B HIII5RE=8.9
AEh BBIIRE=58 TEKNRIIFRE=7, BB IJIGEE=(5, 5.5), FIEFR N EFR (T AE - AT - ZAR#]
HFIIFRE=18.6, {h)1lRig=5.1 REABRIIGIE=(5 52),

AE)IFE=(5, 11.6),
FATECRR 1R = (7, 49.4)

KEH A E)IFE=12, BR)IIFE=5.2, T E PRI EE=(7, 49.5) FEREIEFRIAE]
ZEARIIFE=1, £#)IRE=56

SFERET FOUEI[FR1%=24.8, §1;715=6.3, FIE BRI Rig=(5, 44.4) FIERE I LR [ EHE]
FRFJIRi%=16.2

REM WM ) 5545=20.9, FH)IIE=8, FEHImRE=(5, 8), —
#HEF)I1I8=5.5 B )ImE=(5, 5.5)

=0T #)IRIE=7.8, KB )IRiH=23.6, #lRE=(6, 6.3), -
I\BIFRiE=8, &I 5kig=15.2 KERIFRZ=(6, 18.9),

I\B)IliE=(6, 6.4),
BIFRLE=(6, 12.2)

INEFET BXEHIFE=11.6, 2F/IE=41, AXEHIIFE=(5, 11.6), —
+ B FRiE=6, E3H)IFiEH=164, EFNRE=(5, 4),
NEENFRIGE=9.5 +H)FRE=(6, 4.8),

NEENIFREE=(6, 7.6)
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(Bl5Rk4) AT EREE

SF64E5F23ARTE

M &%

F L f- b GrLIETES REREEHEE HORa BEAIEKFIRICKDELE
i@ YR AR B FIE R k=25.9, &M )IFRE=6.7, FaTECRR 1 R igk= (5, 22.4), —
FEF I FtEg=14.8, KE)IFE=6.3, HERIRE=(5, 6.7),
wINFRE=17.7, B)FRE=126, KEIFRE=(8, 5.1),
ShEIFRE=T7 HFRE=(5, 17.7),
SVE)IFRIE=(5, 7)
P R ECRR I 5RE=17.4, &F@)IIFE=53, FaT ECRR 1 = (5, 17.4), -
E)IRE=13 HEMIRE=(5, 5.3),
E)I3RE=(5, 13)
R FIECPR )1 R st=26, R)IIFE=9.6 — —
hEF FIECRR 1R =28.1, RIIIFRiE=13.2 FATECRR 11 R g= (5, 28.1) -
KRBT RINFRE=12.8, [BF =157 FaT ECRR 1 R = (5, 33.3), Rl ECRR 1 £ 357 [ EWAE]
FRF I FRig=(8, 12.6)
Wi Ry 1H)15RE=20.5, A%&)ItE=17.4, wIRE=(7, 15.9), —
SR RIE=11.5, KE)II5Ri5=8.2 AE)FE=(5, 17.4)
ES-3i) AHE)IFE=335, X&IFE=122, A iig=(5, 285), —
NI - 5R8=9.9 INEN N GRE=(T, 7.7)
I5ET A Rig=30, JIl E)IIFRiE=22.3, AENRig=(5, 27) -
TR GRE=11.6, T FRiE=4.9
)11+t B RiE=12.4, E#)IREH=10.6 R Rigi=(8, 8.5) -
AJIET FATECRR 1R i=29, #t)II5RIE=31.9, FATECRR 11 R g= (7, 29), -
L7BIFRIE=16.6, S H)IIFE=106 #IFRE=(5, 31.9),
JeZB)I5RE=(6, 13.3),
S HIFRIE=(6, 8.5)
EJIF SRIBIFRIE=8.4, £K)IIRiE=6.1 FATECRR 11 R g= (5, 38), FIEER N LR [ EWIE- BB
SRIBIRE=(5, 8.4)
FEEM JLZ8)1FRt8i=13.2, FHIIFREH=7.9 JLZE)IFRE=(5, 13.2), —
SEEIGRE=(7, 6.3)
%= )IET wIFRE=21, BRig=8.1 wIRE=(7, 16.8) -
B ET BRI15E=20.8, /MA)IFRE=8.7, )mE=(7, 17.8), —
AFEIFRg=8.1 NI RIE=(7, 7)),
KRFNIFE=(7, 6.5)
JEEYALER HEm Hhigk) 11 5R18=9.1, /MR I FE=6.8, Hhigh) 1 5RiE=(5, 9.1), BEEFZII[PH]
#HBIIFE=42, BTRIIGRE=11.7 INRINFRiE=(5, 6.8),
#E)15RE=(5, 3.1),
BT RIGE=(5, 6.5),
FZIIRE=(5, 19.4)
FEET E5IRE=25.7, E&0)II5RE=6.5, B5)I|5%E=(5, 15.3), EEEHAII[RE]
INEFRIgi=14.4, Bl FRE=6.3 EER)IFRIE=(7, 5.2),
INENIFRIE=(7, 10.4)
HrHET =5 I1iE=4.7, BF EIRE=49, =RIRE= (5, 46), -
SLEJIFRIE=5.1, BHhE)IFE=4.7, BFE)IRE=(5, 4.9),
BIFRE=3.8, 15)515=38 SLEJIFRE=(5, 5.1)
EREEH A )IRIE=95, LB ]IHRE=10, FE)IFRE=(5, 9.5) -
ERAE 157 I8i=8.9
JEEY hER T JbENFRE=9.5, £ R)IFRE=9.9 - -
HRZERT AP)IFEH=27.9, FH)IFEH=12.9 — —
= [E T = )IFiE=15.1, #TZE)51H=9.6, EREIFRE=(8, 12.1) -
B 5R18=5.6
JIAF AFNIGR=20.9, /N FH)IRE=13.5, AFIFRE=(5, 19.7), -
K#)5RE=8.3 INBFHIIFRIE=(5, 13.5)
KEERT BE)IFRgi=12.2, 1B)1171=6.1 REJIIFRIE=(4, 12.2) -
TEERT AT FRE=12, F)5RE%=3.9 BITEJIRE=(5, 12) -
JRITHT =) Rigi=28.5, EFIiE=7.2 =)l RiE=(8, 22.8), -
ERRE=(7, 5.4)
BEM ERIIRE=108, FJIJIFEH=58 FINRE=(7, 4.8) -
JEEYRIER LWhEm CHANGE=142, Fl5kE=116, {ZHBIFRE=(5, 14.2), BEEEHNDNI-EE]

BFRE IR igi=16.4, 8%)1135R18i=37.6,
RANGRig=14, &:EN5RE=9.3,
BRI FRigi=8, 2@ )I1Fi15=6.9,
=wRINFRE=25, B)IIFE=5.1,
fEF)I5RE=1.7

FFRE=(5, 8.4),
17RE )11 R i8=(5, 16.4),
fiR)I15%18=(8, 30.1),
KANFRtE=(5, 11.2),
JEENIFRE=(5, 9),
BRI II7Ri8=(5, 6.5),
HEE)IFRg=(8, 5.5),
BH)IFRE=(8, 36.1),
EWIIFE=(5, 2.4),
=IHE=(5, 5.1),
[EF)I1kg=(5, 1.4)
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(Rl FRA) HKEERELE SH6E5 A 23R BE

TENSs | wans R S e wamE" SN PRI DR
KFILE BEZAM — /R NIRE=18, BRE=17.2, — /B IlfRE=(5, 14.4), FIE)I[E S - LFH]
B fHIFE=10.4, Ki&)II7EE=158, H{F)I1RE=(6, 8.3),
wEE)FRig=7.2, ER)IHKE=6.3 KiEFRiZ=(5, 12.6),
)1 i8=(5, 6.5),
B8 1| Fite= (5, 52.3),
BER)IFE=(5, 6.3)
&R+ KENRB=115 ZOFIRB=5.1, K& FRiE=(6, 9.2) -
R#IRE=215
E ) BIRE=129, B[ 78=14, Bk E=(6, 10.3), -
RANFRIE=9.7, FE)IFRE=717 RBFE=(5, 8.7),
BT 11 Fetst=(5, 71.1)
A2 EET A GRIE=4.2, /NEBN - KRB FRE=8.7, - -
ERIIE=3.6
EEARHE =) FRiE=4.3, /MRl RiE=4.4, =iE)IRE=(7, 4.3), -
R#)II7R15=26.4, B)IRig=15, INEIFRIE=(5, 4.3),
KENFE=119, SF)IFE=6.8 EFR)RiE=(5, 6.8)
KZEHE SFEENRT = )IRE=20, BIIFE=112, =)IREi=(6, 16), FEN[E#-Ed]
BIGRE=9.2, K E)IIFE=8.8 KEINFIE=(6, 7)
EB LR HEIIFRE=56, BIIRiE=6.8, - -
fitiZ)IFRigi=12.6
2R TET ARJIFRE=58 BE)kE=44, REIIFRE=(5, 47.1), FEN[=d - ILF]
=Ilkg=20.1 =II5RE=(5, 20.1),
B 11 Ftsk=(6, 38.3)
EALES] BIRE=12.3, 18:8)1157E=7.3 - [V
HE2ET R RIFR5=63.3, $R1LJIIR15=6.8, RRIFRE=(6, 42.9), -
EBFRE=15.5, BERE/IRiE=4 EBFRE=(5, 15.5),
BEENIFRE=(5, 4)
=BT RRIFE=625, FA)IfE=158, RENFE=(7, 415), -
RE3FiE=10.1 A& iE=(7, 10.1)
AT HENGRE=67.9, FFR)II5RiEH=204, REJIFRE=(5, 67.9), -
AR =101 WA= (5, 8.1)
BRFOIAT BANRE=1.2, HBR)IRE=19.2, BAIFRIE=(5, 5.8), -
ENIFRE=14, RIR)IGRZ=8.9 HRIFE=(5, 15.4),
RIRINGRE=(5, 7.1)
KX BHE =)IRE=20.1, £&8)IRE=17, =)IE=(5, 20.1), (ST
KENFEE=8, B)IIFIH=65 KE)is=(5, 64),
BRIIFRE=(5, 5.2)
£EEE REFBA BB )IRIE=19.4, A AJIFRE=7.1, BBImRE=(7, 17.4) -
FAIFE=6.4
T4RIET BBIGRE=205, £85)I7E=10.8, FRIRE=(7, 6.1) —
FRIGE=6.1, s )5E=13.7,
FTE )I5RE=41.9
T T BRI FRig=18, FHKk)IFE=115 — —
RRHE RRJIFRE=523, B4 )IFRE=154, RRJIFE=(5, 34.2), —
mHE N GRE=15.3, FR)IRE=45.3, mHE 1 FRig= (5, 15.3),
E8)NFRE=17.5, fiR)IRE=10.6, R IFRiE=(5, 28.8),
1B )FE=10, B OIR)IFRE=2.4 E28)5E=(7, 11.5),
RINFRE=(7, 106),
1B 7RiE=(7, 8),
B O ORIIFREE=(7, 1.8)
E3= L) KEFE=14.1, 12R)I7RIE=16.9, HRIFE=(5, 16.9), -
FEIRE=31, NEIFRIE=7.1, FElIlRE=(6, 24.8),
SEERE=24.4, B /1%)7E=13.4, INE I FRE=(5, 5.7),
TR ) FRts=11.5, P& )I|F15=26.8 FEE)IRE=(6, 19.5),
/U1 i8=(5, 13.4),
AR )IRiE=(5, 11.5),
W% 11 Fts=(5, 18)
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